
	
  
	
  

	
  

	
   	
  
	
  
	
  
	
  
	
  
	
  
	
  



	
  
	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  



	
  
	
  

	
  

	
  
	
  
	
  
	
  
	
  
	
  



	
  
	
  

	
  
	
  
	
  
	
  
	
  
	
  
Answers:	
  

1.	
  	
  	
  1/2	
  of	
  3/4	
  =	
  1/2	
  x	
  3/4	
  =	
  3/8	
  	
  	
  

2.	
  	
  1/3	
  of	
  3/4	
  =	
  1/3	
  x	
  3/4	
  =	
  3/12	
  

3.	
  	
  2/3	
  of	
  3/4	
  =	
  2/3	
  x	
  3/4	
  =	
  6/12	
  which	
  can	
  be	
  simplified	
  to	
  1/2	
  (divide	
  6/12	
  by	
  6/6)	
  

4.	
  	
  1/2	
  of	
  4/6	
  =	
  1/2	
  x	
  4/6	
  =	
  4/12	
  which	
  can	
  be	
  simplified	
  to	
  1/3	
  (divide	
  4/12	
  by	
  4/4)	
  

5.	
  	
  1/3	
  of	
  4/6	
  =	
  1/3	
  x	
  4/6	
  =	
  4/18	
  which	
  can	
  be	
  simplified	
  to	
  2/9	
  	
  (divide	
  4/18	
  by	
  2/2)	
  

6.	
  	
  2/3	
  of	
  4/6	
  =	
  2/3	
  x	
  4/6	
  =	
  8/18	
  which	
  can	
  be	
  simplified	
  to	
  4/9	
  (divide	
  8/18	
  by	
  2/2)	
  

7.	
  	
  1/2	
  of	
  3/5	
  =	
  1/2	
  x	
  3/6	
  =	
  3/12	
  which	
  can	
  be	
  simplified	
  to	
  1/4	
  (divide	
  3/12	
  by	
  3/3)	
  

8.	
  	
  1/4	
  of	
  3/5	
  =	
  1/4	
  x	
  3/5	
  =	
  3/20	
  

9.	
  	
  3/4	
  of	
  3/5	
  =	
  3/4	
  x	
  3/5	
  =	
  9/20	
  

	
  


